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ECONOMICS — GENERAL

Paper : GE/CC-2
Full Marks : 65

Candidates are required to give their answers in their own words

as far as practicable.
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[ English Version ]

The figures in the margin indicate full marks.

Group - A

. Answer any ten questions : 2%x10

Define Gross Domestic Product.

What is narrow money?

If marginal propensity to save is 2/5, what will be the value of marginal propensity to consume?
What do you mean by Cash Reserve ratio?

Define investment multiplier.

What is depreciation?



10.

11.
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(g) What is liquidity trap?
(h) What is inflationary gap?
(i) Define the velocity of circulation of money.
() What is the basic theme of the Quantity Theory of Money?
(k) Define cost-push inflation.
(1) Mention any two objectives of the fiscal policy.
(m) What is speculative demand for money?
(n) What is Pigou Effect?

(o) Define Balance of Payments.

Group - B

Write short notes on any three. 5%3

. Concept of the Value-Added method

Say’s Law of Markets

Demand pull inflation

Saving-investment equality in Simple Keynesian Model
Relationship between High-powered Money and Money Multiplier.

Group - C

Answer any three questions.

What is classical dichotomy? Determine equilibrium output and employment in the classical model.
248

Define marginal propensity to consume. Determine its relationship with the Investment Multiplier.
2+8

. How do the commercial banks create credit? Mention any two limitations of the process of credit

creation. 5+5
Discuss the importance of fiscal and monetary policy in controlling inflation. 10

What do you mean by Adverse Balance of Payments? What are the possible steps to correct this
situation? What is Marshall-Lerner condition? 2+6+2



